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0 0O 0O 0O 140 651. When | fetched the sketch on the stretcher |
foundthesecretary’ ssecret. J OO U000 OOOOOO
0O 0O 0O O. 652. The mutual spirits inspired us to reach the annual
am.J000000000000000.653. The roaring oar
hit the coarse keyboard on the cupboard aboard the boat. [J [0 [ [
DO000000000000O.654. My intimate mate’ s
ultimate estimate approximates the appropriate value. 00 O [ [J [
OO00000000D0O0O.655. In case of necessity, necessary
sessioncanbeheldonthevessel. 1 O 0O, 00000000000
[1 [J. 656. By the navigation of microwave, the navy paved a
pavementonthewavysea. 1 00 OO0 UOOO0OOOOOOO
00O 0O00O 0O 657. The minority of us are confronted with
difficulty in the frontierof themajor. O O O OO O OO OO OO
0 00O 0O 0. 658. From the context of the text, | find the next
pretextforsellingthetextile. 1 0 00O 0O0O0OO0OOOOO
000000 O. 659. The systematic items stem from the walker

' stalkaboutthechalk. DD 0O OO0 O0OODOODOOOOOMO
[J 00 0. 660. Theoretically, their heir’ s theory of meteorology can



explainthemeteor. 1 0 O 0O 0O OOOOOOOOOOO
OO0000000 e61. Iaffirmatively confirmed the conformity
of the theorywithpractice. O 0 D OO OO0 O OO O OO . 662.
The subordinate coordinates are in accordance with that set by the
cordialchorus. U O OO0 OOOOOOOOOOODOO 663.
The transactor thinks activating the atomic interaction in the intact
reactorispracticable. J O 0O 00 O00OO0O0OOOOOO
0000000000, 664. The distracted reader can’ t be
absorbed intheabstractextract. U U OO0 OO0 OO0 O0OO0OOO
[1 00 0. 665. The compact faction fractured because of friction. [
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